UGC NET 2022 GEOGRAPHY

Topic:- 80_PARTA_Set1

1) Map is showing the passes of Kashmir Himalayvas. Which of the sequence of labelled passes
in ascending order iz correct”
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[Question ID = 701][Question Description = 101_80_Geography_0CT22_Q01]

1. 1. Karaltoram 2. Qura Tag 3. Lanak La 4. Chang La 5. UmasiLa 6. Banthal
7. Pir Panjal. 8. Zoii La

L. FPEFE, 2. T AL, 3. 5F A1, 4. ST A, 5. 39TE] A, 6. "R, 7. 9 TAEL, 8. FE e

=y

[Option ID = 2801]

, 1. Karakoram 2. Quara Tag 3. ChangLa 4 LanakLa 5. Umas1 La 6. Banihal
7. Pir Panjal 8. Zeji La

| FFRE, 2. TR AW, 3. 9/ S, 4. 59F AL 5, IO @, 6, |EEE, 7. 0 T . 8. A o

[Option ID = 2802]

;. 1. Earakoram 2. Aghil 3. Lanak La 4. UmasiLa 5. ChangLa 6. Banihal
7. Pir Panjal 8, Zoji La

|, FrERE, 2. @, 3. F9F o, 4 ZAE @, 5. =90 A1 6. SRR, 7. W U, . A e

[Option ID = 2803]

1. Karakoram 2. Saser La 3. Lanak La 4. Chang La 5. UmasiLa 6 Pir Panjal
7. Qura Taz 8 ZojiLa

1. TPRERE, 2. OO ST, 3. 0RO, 4. W W, 5. 3ET AN, 6.1 9STe, 7.9 e, 8. A
[Option ID = 2804]
2) Enock-knee syndrome (outward bending of legs from knees) 13 mainly cauzed due ta:

Hih A1 T@EEE (FeE) (A @ AT 20w A S0 gSA1) O R

[Question ID = 702][Question Description = 102_80_Geography_0CT22_Q02]
1. Fluoride polliution



[Option ID = 2805]
2. Tead pollution
== () T

[Option ID = 2806]
3. Meveury pollution

T (TET) TEE

[Option ID = 2807]
4. Carbon-di-oxide pollution

FEA-SE—AFAES TEE0

[Option ID = 2808]

3)  Which of the following is associated with international agreement on ‘substances that deplete
the ozone layer”

‘w5t SR T A, O i a5 e et 8 8 R 3
[Question ID = 703][Question Description = 103_80_Geography_0CT22_Q03]
1. Paris Apreement

[Option ID = 2809]
2. Marrakech Accord

[Option ID = 2810]
3. Kyofo Protocol
TSP
[Option ID = 2811]
4. Montreal Protocol

':, , - # '_
[Option ID = 2812]
4) To examine the state of world environment and development beyond 2000, UN General

Assembly set up World Cemumission on Epvironment and Development (WCED) in 1983,
which is also known as;

9 U A SEEEE J 2000 % = i (979 wEE S A i e A e 1985 § s s
= W Tava wHEE (WCED) s, 58 Fs1 56 2

[Question ID = 704][Question Description = 104_80_Geography_OCT22_Q04]

1. Commission on Sustainable Development

[Option ID = 2813]
2. PBrundtland Commission



[Option ID = 2814]
3. Apenda-—21

o oy G

[Option ID = 2815]
4. Chipko Commission

[Option ID = 2816]

5) The report entitled "Our Common Future” was submitted in 1987 by

AT G gl o i e 1087 # e 7 wwaa 1 A

[Question ID = 705][Question Description = 105_80_Geography_0OCT22_Q05]
1. Food and Agricultural Organization

[Option ID = 2817]
2. World Meteorological Organization

Tavg gen-Taam o

[Option ID = 2818]
Intergovernmental Panel on chimate change

[Option ID = 2819]
4. Brundtland Commission

3.

-..'-J.’-r.

[Option ID = 2820]

6)  In India National Ambient Air Quality Monitoring (NAAQM) programme was imitiated by:
qIvA B TS A A TR T hEEE (U U Uy v ) R ey e

[Question ID = 706][Question Description = 106_80_Geography_0CT22_Q06]
1. National Environmental Research Institute

i S T

[Option ID = 2821]
2. (Central Pollution Contral Board

o TR e

[Option ID = 2822]

3. India Meteorological Department
qmA ﬁm—iaei 1 rﬁ ar

[Option ID = 2823]

4. National Institute of Urban Affairs

[Option ID = 2824]



7)  Which term is used by W, Penck to denote waning development of landforms?

TR & BHEN [T G2 0 20 Savd UF Al 598 H FE 0% 1 T SR T 2 7

[Question ID = 707][Question Description = 107_80_Geography_0CT22_Q07]
1. Primarumpf

T

[Option ID = 2825]
2. Aufsteizende entwickelung

- ”r.r'- ‘ :.'r‘_--'—‘- ‘_

[Option ID = 2826]
3. Gleichformize entwickelung

ﬂ |‘f'\' ﬁ-\-.’ - -;

[Option ID = 2827]
4. Absteigende entwickelung

[Option ID = 2828]

8) Cambay Graben is associated with which one of the following earthquake?

F1e AT FEAAEd G 5 H TS UF & A1 T B
[Question ID = 708][Question Description = 108_80_Geography_0CT22_Q08]
1. Bhuj earthquake

[Option ID = 2829]
2. Latur earthquake

[Option ID = 2830]
3. Jahalpur earthguake

EEEEEE e

[Option ID = 2831]
4. Quetta. Baluchistan earthqualke

[Option ID = 2832]
9)  Which one of the following term 1= not related to Continental Drift Theory?

FeTieE ® ° ®E-01 U5 SR T4 HeiE ° 5Eihd a6 6 e
[Question ID = 709][Question Description = 109_80_Geography_0CT22_Q09]
1. Panthalasa
Far=TaT
[Option ID = 2833]
2. Palececlimate



EUEEEIE

[Option ID = 2834]
3. Sea fluor spreading

gt FAe T

[Option ID = 2835]
4. g saw fit

[Option ID = 2836]
10)  Which one of the following fault has greater risk of landslides?
Fefetign T8 W9 5 -ge A W31 FI0EH i 7 A

[Question ID = 710][Question Description = 110_80_Geography_0CT22_Q10]
1. Strike-shp or Transcurrent fault

T wuET AFhg g g9

[Option ID = 2837]
2. Normal fault

HET ooy

[Option ID = 2838]
3. Reverse fault

[Option ID = 2839]
4. Over thrust fault

Hteriams w9

[Option ID = 2840]

11)  Identify the correct statement from the following:
fretafgs @ | 991 599 = T

[Question ID = 711][Question Description = 111_80_Geography_0OCT22_Q11]
1. Wind is deflected to its might in the southern hemisphere

£ o B o BB e = o et = O = e e B

[Option ID = 2841]
2. (Geostrophic wind blows parallel to the isobars

gl was waes @] &+ gHE AlEd S 2

[Option ID = 2842]
3. Wind speed Increases with firiction

[Option ID = 2843]
4. Wind speed is inversely proportional to pressure gradient force

wE i TlA, T8 TEE S H SR S 2 e



[Option ID = 2844]

12) In which one of the following fronts, warm air is completely displaced from the sround

surface?
Fr=leiEs & 9 T oF 99w 4 Wi | 76 919 99 #9 F fSeies 2 A 27
[Question ID = 712][Question Description = 112_80_Geography_0CT22_Q12]
- Oceluded front

[Option ID = 2845]
2. (Qold front

[Option ID = 2846]
3. Warm front

e e 1

[Option ID = 2847]
4. Stationaryv front

T2 gEm

[Option ID = 2848]
13)  The dating and study of annual rings of trees iz called:

FH F FH I F I G AT A b E
[Question ID = 713][Question Description = 113_80_Geography_0CT22_Q13]
1. Morphology
TP
[Option ID = 2849]
2.  FEecentricity

.31"3{;,:.- T

[Option ID = 2850]
3. Precession

[Option ID = 2851]
4. Dendrochronology

A FTATHHAY
[Option ID = 2852]

14)  Who has authored the famous book. Mugaddimah'?

[Question ID = 714][Question Description = 114_80_Geography_0CT22_Q14]
1. Thn Batuta

= A



[Option ID = 2853]
2. Al Birum
e —TEAl

[Option ID = 2854]
3. Alldrisi

FA-Te

[Option ID = 2855]
4. Tbn-Khaldun

AT 'E\:T
[Option ID = 2856]

15) A seholar of which origin coined the term “permafrost’ to explain the frozen characteristics of
the Siberian scils?

[Question ID = 715][Question Description = 115_80_Geography_0OCT22_Q15]
1. Awmerican
[Option ID = 2857]
2. British
fatz=

[Option ID = 2858]
3. French

=

[Option ID = 2859]
4. German

=

=

[Option ID = 2860]

16)  Which perspective In geography 1z associated with Ferdinand de Saussure?

YT T TEE o H HeAS § 997 o A B
[Question ID = 716][Question Description = 116_80_Geography_0CT22_Q16]
1. Positivism
B 2 L3
[Option ID = 2861]
2. Behaviouralism

[Option ID = 2862]
3. Feminism

i~

ATTETE



[Option ID = 2863]
4. Structuralism
[Option ID = 2864]
17)  Which one of the following model of the internal structure of the city emphasizes the
importance of transport routes?
T F AT T AEAETE B O FE W 5 TEaA F 0 F Baed W A A 2 ¢
[Question ID = 717][Question Description = 117_80_Geography_0CT22_Q17]
1. Conecentric model
EEZAp R
[Option ID = 2865]
2. Sector model

[Option ID = 2866]
3. Multiple nuelei model

[Option ID = 2867]
4. Trban social area model

T AT 58§16
[Option ID = 2868]

o

18)  Which ministry of Government of India looks affer Census operations in India’

F=ietEa & 7 519 1 97 TR T 59 59 H S0 6 A= a6 R

[Question ID = 718][Question Description = 118_80_Geography_0CT22_Q18]
1. Ministry of Statistics and Programme Implementation

T S FEEE FEEE A
[Option ID = 2869]
2. Ministry of Education
fore Hamer
[Option ID = 2870]
3. Ministry of Home Affairs
[Option ID = 2871]
4. Mhnistry of Finance
[Option ID = 2872]

19)  Which one of the following stage in demographic transition model deserihes the situation of
high and stable birth #ate along with high and fluctuating death rate?



TR TEa e H Fetetes 5 8 0 oW = o= v BE s g o 3wy 5= v aedi-
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[Question ID = 719][Question Description = 119_80_Geography_0CT22_Q19]

1. Early expanding stage

[Option ID = 2873]
2. Tate expanding stage
Taetas (s =
[Option ID = 2874]
3. High stationary stage
[Option ID = 2875]
4. Low stationary stage
[Option ID = 2876]

20) A regressive population age structure is lilely to be encountered in' a country:

U WIATHT A AT e A 59 H HTEAT R A S S ETEET 2

[Question ID = 720][Question Description = 120_80_Geography_0CT22_Q20]
which has completed the demographic transition

1.

[Option ID = 2877]

2. where the voung and old population are balanced

[Option ID = 2878]
3. which has young population

Toeehl S 7= B

[Option ID = 2879]
4. swhich 1= 1n the earlv expanding stage of demographic transition

1 FATFH TFAW F TAESE S g

[Option ID = 2880]
As per the Nearest Neighbourhood analysis. an index value of 2.5 suggests that the

21)
settlements are:

Frrzan weEl favem F s9ET 1.5 T g9%TE 9 gEias w2 6 i 2
[Question ID = 721][Question Description = 121_80_Geography_0CT22_Q21]

1. Clustered

=g



[Option ID = 2881]
2. Highly clustered

[Option ID = 2882]
3. Randomly distmbuted

afaF =9 F Hata
[Option ID = 2883]
4. Evenly spaced
HE -

[Option ID = 2884]
22) The geometrical shape formed by a group of buildings is termed as:

[Question ID = 722][Question Description = 122_80_Geography_0CT22_Q22]
1. Site
T

[Option ID = 2885]
2.  Pattern

e

TraE=T

[Option ID = 2886]
3. Lopeation

[Option ID = 2887]
4. Situation
[Option ID = 2888]

23) T4t
Crop Diversification Index = - —
()™

In the above formula. *x’ refers to:

Na
(Tx)"
IR g E, o Fem e

FA Efaga gEh =

[Question ID = 723][Question Description = 123_80_Geography_0CT22_Q23]
1. Gross cropped area

[Option ID = 2889]
2. Tatal cropped area occupied by éach erop

T FHE F SeE el TEEE A

[Option ID = 2890]



3. Nef sown area

[Option ID = 2891]
4. Net sown area occupled by each crop

TEE B S g ST T A

[Option ID = 2892]

24)  Which of the following 1s/arve not the cause/causes of floods 1n Brahmaputra river system?

(A) Tributaries of Brahmaputra bring huge guantity of water and silt. heavy déposit of
s1lt has raised the mver bed

(B) Faulty agricultural practices

() Occasional earthguakes have brought about changes in the course of miver

(I Broadness of the Brabhmaputra Valley

(E) Very high population pressure has forced the population to live in the flood prone
area

Choose the correet answer from the options given below !

Tr=tfertian & | = 51/8 S5 991 79 % AT =l w1 R/ w5 8§ a6 e ¢

(A) TR F FEEF A e 9En 9 5w o e () et 8 | TR wiew smE A 96 a6
T W T R

B) T I TEE

(C) A g T 99 F 56 R U WO

@)  FETE = A

(BE) 3770 =9 59001 % =91 A S0 1 5% T9iEE A9 9 5 6 e A 5 e 2
i oo v famegt B 9 v = w1 =9 Fiew

[Question ID = 724][Question Description = 124_80_Geography_0CT22_Q24]
1. {;—‘L} Dnl}-'

Fae (A)
[Option ID = 2893]
2. (B)and (T} enly
Fae (B) @i (C)
[Option ID = 2894]
3. (B) and (D) only
F=e (B) = (D)
[Option ID = 2895]
4. (E)only
F== (E)

[Option ID = 2896]

25)  How does Gunnar Myrydal (1957) describe the generation of regzional inequalities at the

national and international levels in his theory of Circular Cumulative Causation?



T 2= (1057) 7 A0 g8 A= F00ea & EgH 8§ W9 A6 ATIEE T W UEEE AEEEE A w6
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[Question ID = 725][Question Description = 125_80_Geography_0CT22_Q25]

. Forward and backward linkages

s

SETHT # W GeETET sEEY (EE)
[Option ID = 2897]
2. Push and pull factors
[Option ID = 2898]
3. Backwash and spread effects

[Option ID = 2899]
4. Balance and unbalanced srowth

el 37 AT 9ig
[Option ID = 2900]

26) Who among the following authors have proposed “Tourism Area Life Cycle (TALC) model
illustrating how tourism develops and changes over time in a region”

fefEs © 1 e eeE 9w @7 F F99 9% (TALC) & #isg §, 7929 § 9 &0 399 % o7y
TR WA A A ST Al S TEE R A
[Question ID = 726][Question Description = 126_80_Geography_0CT22_Q26]
1. John Glazson, 1956
= T, 1956

[Option ID = 2901]
2. Richard Butler. 1980

fr=r2 szem, 1930

[Option ID = 2902]
3. David Harvey. 1945

s 7, 1945

[Option ID = 2903]
4. Robert Prozzer. 1982

e T, 1982

[Option ID = 2904]

27)  What is Debt Service Ratio?

[Question ID = 727][Question Description = 127_80_Geography_0CT22_Q27]
1. It is the proportion of & country’s export earnings that it needs to use to meet its debt
repayvment



RiE oo e e AR 2 s 12 e 2 e = O i 1 s e e e | o B 1

[Option ID = 2905]
Tt is the proportion of a eountry’s total national income that it needs to use to meet it2

2.
debt repayment
= T =91 1 He TG S W AR 9, T 356 360 S S O § ST w6 2
[Option ID = 2906]
3. It is the proportion of a country’s income from services sector that it needs to use to
meet itz debt repayment
T THE 7 FE AT F A W GRS R, A S O A g o 99T e A
[Option ID = 2907]
4 I is the proportion of a country's tofal income from manufacturing sector that it

needs to use to meet its debt repayment
7= Tl 5 ) A (A &9 5 F 9 w9 99 2, T sed w5 g g
o 37 = 2

[Option ID = 2908]

28) Which one of the following is the boundary line between India and Pakistan?
TF=ealgs ® @ 9 = YA A7 G ok A Hie ) B

[Question ID = 728][Question Description = 128_80_Geography_0CT22_Q28]
1. Durand Line

[Option ID = 2909]
2. Blue Line

[Option ID = 2910]
3. Radcliffe Line
E: =TT T@T
[Option ID = 2911]
4. MeMohan Line

[Option ID = 2912]

29) How is ‘Cultural Hearth' defined?
[Question ID = 729][Question Description = 129_80_Geography_0CT22_Q29]

It iz concerned with the power of spreading of various cultural phenomena on the
earth from a source or sources of origin

TF TEA F UR A A A J 9 WA SEaE aeEeisn & S oo |

[Option ID = 2913]
2. The hirth place of a cultural group assocated with a particular cultural landseape

1.



T {atere AEEEE Y50 (R § A T AEFT 958 5 TE

[Option ID = 2914]
3. Cultural parameter that specify learned behaviow:

TR TS, 71 HE T =G w2 w2

[Option ID = 2915]
4. Cultural regions showing cultural complexes and landscapes

A aw FA (Freead) T 957E H 9 AT e e

[Option ID = 2916]
30) Which one of the following is not a Particularly Vulnerable Tribal Groups (PVTGs)?

TA=Atetga & & w4 i WEiiad s aa1ad @98 (PVTGs) 74 27

[Question ID = 730][Question Description = 130_80_Geography_0CT22_Q30]
1. Vantansgia
[Option ID = 2917]

2. Marram Nagas

HH AT

[Option ID = 2918]
3. Beharias

Sy

= L]

[Option ID = 2919]
4. Reangs

[Option ID = 2920]

31)  Which ane of the following statistical technique is used to analyse the interdependence of the
variables?

T F AT (Sl ) F S i F @ Geenga § O (66 06 GifeadE a5l s w6l
= e T e

[Question ID = 731][Question Description = 131_80_Geography_0CT22_Q31]

1. Location Quotient

feta ames (FTRTE )

[Option ID = 2921]
2.  Standard Score

" 3F (F2v=E o)
[Option ID = 2922]
3. Co-efficient of variahility

[Option ID = 2923]
4. Principal Components Analvsis



THTE U T e (e e oA )

[Option ID = 2924]

32) WWhich are the three component indicators used by AMLD. Morris (1979) to caleulate the
FPhysical Quahity of Life Index (PQLL)?7

wa F. Wit (1979) 3 e F wiifes E guwE (6w, F aiwen & o fefte §
[Question ID = 732][Question Description = 132_80_Geography_0CT22_Q32]
1. Infant Mortality Rate, Life Expectancy af age One. Basic Literacy at age 15

fomr g =, W 9 1 I W SEA oA, 15 99 39 W e |

[Option ID = 2925]
2. Maternal Mortality Rate. Literacy at age 7 vears. Life Expectancy

o Org F, 7 99 H 3F T HE@E, F9 TeEmwn

[Option ID = 2926]
3. Neo-natal Mortality Rate, Women Literacy Rate. Life Expectancy at age one

T 19 T oE. WiE HYEE oF, TF 99 S 38 W A=A T

[Option ID = 2927]
4. Imfant Mortality Rate. Out of School Children. Life Expeciancy at age one

1] geg o, e 0 W S 3 e 9 e, T 9N 9 W S T
[Option ID = 2928]
33)  The elements-site, situation and association fall in which order of Aerial image interpretation?

FETE R A IR R T o e T s A R Y

[Question ID = 733][Question Description = 133_80_Geography_0CT22_Q33]

1. Primary

[Option ID = 2929]
2. Secondary

lcieed

[Option ID = 2930]
3. Tertiary

-

[Option ID = 2931]
4. Higher

S
[Option ID = 2932]

34) ‘Who is the first person to coin the term ‘Geopolitik™?

E =i A T (YT ) 9E. HAaE W e
[Question ID = 734][Question Description = 134_80_Geography_0CT22_Q34]



_

Fredrich Ratzel

[Option ID = 2933]
Rudolf Kjellen

N

[Option ID = 2934]
3. Karl Haushofer

T FTETEH

[Option ID = 2935]
4. Peter Kropotin

[Option ID = 2936]
35)  Which agency 1s assoclated with IKONOS remote sensing data?

T TS = geg IKONOS e d4mm = (gi—wad) snFsi) 3 27

[Question ID = 735][Question Description = 135_80_Geography_0CT22_Q35]
1. Digital Globe

= -
[Option ID = 2937]
2. ImageSat International Inc,

[Option ID = 2938]
3. Digital Image

[Option ID = 2939]
4. ORBE Lmage

[Option ID = 2940]

36) A point data 1s;
[Question ID = 736][Question Description = 136_80_Geography_0OCT22_Q36]
1. 0D — Dimensionless
0D - s e
[Option ID = 2941]
2. 1D -1 dimensional
1D - T

[Option ID = 2942]
3. 2D —2 dimensional



D - Tg-zmEmd

[Option ID = 2943]
4. 3D - 3 dimensional

3D - =- wrET
[Option ID = 2944]

37) Five Indian metros with respect to total population are arranged in descending order, which
of the following sequence is correct?

Fel FAEEA F HEY H UFS F 0" 52 F SE0E #9 0 =add e ey 2 | FoieiEs § 8 e
ST HA A7

[Question ID = 737][Question Description = 137_80_Geography_0CT22_Q37]
1. Mumbai Delhi, Kolkata, Chennai. Bengaluru

[Option ID = 2945]
2. Delhi. Eolkata, Mumbai. Chennai. Berigaluru

[Option ID = 2946]
3. Mumbai. Eolkata. Delhi. Bengaluru, Chennai

[Option ID = 2947]
4. Mumbai. Delhi. Chennai. Kolkata. Bengaluru

[Option ID = 2948]
38)  Which one of the following is not correctly matched?

TrfetEg & 5 9 W T gt 96 2

[Question ID = 738][Question Description = 138_80_Geography_0CT22_Q38]
1. Cherry Blossoms — Karnatalka

[Option ID = 2949]
2. Norwesters — West Bengal. Assam and Odisha

=T — aE W, S SR s

[Option ID = 2950]
3. Loo—North India

! i

[Option ID = 2951]
4. Mango showers — Maharashtra

HE gl - HERE

[Option ID = 2952]



39) Ammonification is an important process in;

[Question ID = 739][Question Description = 139_80_Geography_0CT22_Q39]

1. Phosphorus eycle

FEETH TF |

[Option ID = 2953]
2. Carbon cycle

FE TF A
[Option ID = 2954]
3. Nitrogen cyvele

EIETIEC i P
[Option ID = 2955]

4. Oxygen cycle
ST = |

[Option ID = 2956]

40) Which one of the following is not correctly matched?

Taerieiad 9 | A =+ e 59 985 27
[Question ID = 740][Question Description = 140_80_Geography_0OCT22_Q40]
1. Devprayag  — Bhagivathi + Alaknanda

[Option ID = 2957]
2. Rudrapravag — Mandakini + Alaknanda

=g A - HETEAL + T
[Option ID = 2958]
3. EKarnpravag — Bhagivathi+ Pindar
1 T iz B s
[Option ID = 2959]
4. Vishnupravag — Dhauliganga + Alaknanda
fFmmm - i+ s
[Option ID = 2960]

41) An ecological suceession which begins on a place rich in inerganic eontents but poor in organie
contents is called:

UF TMHIES T AT A1 5 sereis 50 3 ¥=0 Wed FEiE A9 5 AT 0 A S9E J gRd a2

7, el o

[Question ID = 741][Question Description = 141_80_Geography_0OCT22_Q41]

1. Autogenic succession

~



[Option ID = 2961]
2. Allpgenic succession

s Ful T B =
B (U HE ) SR

[Option ID = 2962]
3. Indured succession

eI (F=9Es) SEEET

[Option ID = 2963]
4. Autotrophic succession

[Option ID = 2964]
42) Which one of the following local wind is a Katabatic wind?

Tr=leriEa § 7 =i i T v vF i (A 96 A
[Question ID = 742][Question Description = 142_80_Geography_0OCT22_Q42]
1. Chinook

i
Iﬂ]’[

[Option ID = 2965]
2. Foehn
g}
[Option ID = 2966]
3. Banta Ang
AT FT
[Option ID = 2967]
4. Nhstral

Tz

e

[Option ID = 2968]

43) In 2020-21. India exported poultry products to which of the following countries?

(A) Oman

(B) Maldives
(C) Palkistan
(D) Indonesia
(E)  Thailand

Choose the correct answer from the options given below :



a7 2020-21 E 97 F FEfEgs 591 8§ ® FRE Wl Sl w6 A

{A) Eic

(B) ElE ]

(0)  orFE=e

(D)  SSHEE

(E)  =msevs

5 Fom o Forpet 3 & 1 = R T A

[Question ID = 743][Question Description = 143_80_Geography_0CT22_Q43]
1. (A) only

= (A)

[Option ID = 2969]
2. (Ayand (B) only

== (A) #7 (B)

[Option ID = 2970]
3. (C) and (E) only

4 (C) #1T (E)

[Option ID = 2971]
4. (A), (B) and (D) only

94 (A). (B) #:r (D)

[Option ID = 2972]

44)

As per Census of India. 2011 arrange the following Union Territories in a descending
order according to the recorded literacy rates.

{A) Chandigarh. Puducherry. Daman & Diu. Dadar Nagar Haveli
(B) Puducherry, Chandigarh, Dadar Nagar Haveli, Daman & Diu
(C) Chandigarh, Dadar Nagar Haveli. Puducherry. Daman & Diu
(D)  Daman & Diu. Puducherry. Chandigarh. Dadar Nagar Haveli
(E} Daman & Due, Chandigarh. Puducherry, Dadar Nazar Haveli

Choose the correct answer from the options given below :

T = A, 2011 F HIER FEAfAiEn Fes a0 T i S AT o & AR SE

ﬁmﬁﬂﬁiﬁﬁﬂf:
(B)  TgE, SEE, T R OES, T o e
F= fru v Tl § H O ST T =gd i

[Question ID = 744][Question Description = 144_80_Geography_0CT22_Q44]
1. {A) only



2.

3.

4.

Fa (A)
[Option ID = 2973]
(A} and (E) only
Fa= (A) #1 (E)
[Option ID = 2974]
(A), (B) and (C) only
Fae (A). (B) #7 (C)

[Option ID = 2975]
(E) only

FaT {E)

[Option ID = 2976]

45)  The proper sequence of ridees from South to North in the Indian Ocean 1s

(A) Kergelen-Gausserberg ridge: Chagos-Saint Paul ndge: Socotra-Chagos
Laccadive-Chagos ridge

(B) Kergelen-Gauszerberg ridge: Chagos-Saint Paul nrdge: Socotra-Chagos
Andaman-Nicobar ridge

(C) Chagos-Saint Paul ridge: Kergelen-Gausserberg ridge: Socotra-Chagos
Laccadive-Chagos ridge

(D) Chagos-Saint Paul mdge: Kergelen-Gausserberg rdge: Socotra-Chagos
Andaman-Nicobar ridge

Choose the correct answer from the options given below :

o= H=mEPR | Ziaw 7 =7 Fi1 TF TP 1 qE FEE -

(A) T — e w2, SH-HTE TS Fe, BT T, waa - =0TE

(B) T — TS S, STH-HE e e, WU - W, S - e

(C)  ETE-TvE O FoF, W OIEA-TEE T2, GE-aTE F2F, FEET - 9T

(D)  TFE-ATZ T FF, T A -TEE B, AR - R, ASAE - R e

43 foo w0 T B H TE 39 R 99 Hian

[Question ID = 745][Question Description = 145_80_Geography_0CT22_Q45]

1.

2.

3.

4.

(A) and (D) only

e (A) # (D)

[Option ID = 2977]
(A). (B) and (C) only

T (A), (B) #1(C)

[Option ID = 2978]
(A) and (B) only

a1 (A) A7 (B)

[Option ID = 2979]
(B). (C) and (D) only

4= (B). (C) ¥ (D)

ridge:
ridge:
ridge:

ridee:



[Option ID = 2980]

46)  YWhich of the following statement is/are correct?

(A) Denudation involves weathering, mass wasting and erozion
(B) Phyvaical Weathering and Mechanical Weathering process differ only in seale

() In dry climates. salt-crystal growth and weathering lead to the formatiom of
distinctive hollowed-out near the baszes of sandstone chiff

(D) Exfoliation occurs when temperature changes cause minerals to expand and contract
at different rates

Choose the correct answer from the options given below :
Ttetigs  # FE-H1/3 A = R /R T

(&) TSR 994E, 990 5F 31T S99 1 Aiies Fa |

(B) Wil w983 #A A6 A9ET Tisal hasl "] (6 ) W T9 7l 7|

(C) 9o oAy # AT 9ig T IEE e F W % R F e fafieg wet & e

(D) TR T Hiad T R, A 9Ed F R w0 W w69 5g=w am
el

4= oo o © 5 o o 9= i

[Question ID = 746][Question Description = 146_80_Geography_0CT22_Q46]
1. (B) only

a7 (B)

[Option ID = 2981]
2. (A)and (C) only

e (A) #J17(0)
[Option ID = 2982]
3. (B)and (D) only
A (B) #T (D)
[Option ID = 2983]
4 (A) only
Fa= (A)

[Option ID = 2984]

47)  Which of the following are characterized by stratovoleanoes?

(A Basaltic magma
(B) Involves inter layered strata
(C)  Magma is gassy and highly viscous

{Iy) hMagma emerges under low pressure

Choose the correct answer from the options given below |



= U2 EET Fofetas 3 1 e Staeem 2

(A)  smEe b
(B) AT GWE WA wEE =l R
(D) 9 T=EE 93 A R
4= e e e § H W I F =9e Fien
[Question ID = 747][Question Description = 147_80_Geography_0CT22_Q47]
1. {A) and (D) only
e (A) 31T (D)
[Option ID = 2985]
2. (B)and (D) only
Fa (B) #1 (D)
[Option ID = 2986]
3. (A)and (€) only
Faet (A) FJ7(C)
[Option ID = 2987]
4. (B) and (C) only
=9+ (B) 317 (0)

[Option ID = 2988]

48)  Twe of the following ocean cwirents are responsible for reducing the temperature of

bordering coastal zones:

(A) Benguela current
(B) Eurosiwo ¢urrent
(C) PBrazil current
(D) Canaries current
(E) Gulf stream

Choose the correct answer from the options given below ;
aiesll Fzadl Sl & AAE 1 A E R e (eeiEs 8 A 51 "eEnE qeE s |
(A)  sEEEE G

~

(B)  FamEmE gm

(0)  wrEE gm

(D)  FAF g

(E) TF M

1 fou T Tase B H HE I R =0T hiE
[Question ID = 748][Question Description = 148_80_Geography_0OCT22_Q48]
1. (A) and (B) only

e (A) 37 (B)

[Option ID = 2989]



2. {A) and (C) only

e (A) 377 (O)

[Option ID = 2990]
3. {A)and (D) only

Fa9 (A) =R (D)
[Option ID = 2991]
4. (D) and (E) onlv
= (D) ST (E)
[Option ID = 2992]

49)  Which two of the following alphabetical symbols represent ‘the wet tropics’ climate according
to Képpen's chimate classification?”

(A) BWh
(B) Af
(C) Dfe
(D) Am
(E) Bsh

Choose the correct answer from the options given below :

FIH 5 AAAE A F ATAW Heead § 5 FiA J 51 SR A SO A e e
27

{A) BWh

(B) Af

Q) Dife

(D) Am

{E) BSh

19 fou Tu fasrea) § 3 TE 39 F =S8 FEn

[Question ID = 749][Question Description = 149_80_Geography_0CT22_Q49]
1. {A)and (E) only

Fae (A) @7 (E)
[Option ID = 2993]

2. (B)and (D) only

3= (B) 317 (D)

[Option ID = 2994]
3. (B) and (C) only

Fad (B) 31 (C)
[Option ID = 2995]
4. (A)and (C) only
el (A) AT (O)

[Option ID = 2996]



50)

(A) Philoszophical arigin
{B) Artistie origin

(C) Instrumental orgin

(D)  Chemiecal origin

Identifv the tvpe of universe origin as discussed in the cosmology of Vedas.

Choese the correct answer from the options given below :

71 7 FEISH 1§ At =mE 3E % ) # rEE

(A) = I

(B) FoTeEE I

(C) = I

(D)  TEEEF 6

B B A L e e e o s e - o B

[Question ID = 750][Question Description = 150_80_Geography_0CT22_Q50]
1. (A) and (C) only

(A) & (C)

[Option ID = 2997]
2. (B) and (D) only

g (B) w7 (D)

[Option ID = 2998]
3. (A)(B) and (C) only

Fae (A). (B) 3 (C)

[Option ID = 2999]
4. (0) and (D)) only

94 (C) =i (D)

[Option ID = 3000]

51)

(A)
(B)
(C)
(D)
(E)

Carl Ritter

Alexander Von Humboldt
Oscar Peschel

Varenius

Immanuel Kant

Whieh of the following pairs are correctly matched?

Continentality concepts

Teleological Approach

Das Ausland

Critigue of Pure Reazon

General History of Nature of the Heavens

Choose the correct answer from the options given helow :



